


Lösungsvorschlag 
 
 

Aufgabe 1 
 
5646 < 5654 < 6554 < 6564 < 6654 < 56445 
 
 

Aufgabe 2 
 
a)  auf Tausender:  81 735 000 Auf Zehntausender: 81 730 000 
 
b)    (1):  25 kg  (2):  136  
 
c)     3 650 000                           
 
 

Aufgabe 3 
 

 
 
 

Aufgabe 4 
 
a)    89,   53,  48 
 
b)    (1):  (10101010)2  ,  (2): (1140)5  
 
 

Aufgabe 5 
 
a)    (1):  744,    (2):  3952 
 
b)    CCCXCVI,         MMCMLXIV 
 
 

Aufgabe 6 
 
a)   (1):  347 – 89 = 258,      (2):  256 – 45 + 143 + 79 - 143= 290  
 
b)   Es ist die Differenz, wenn man 655 von der Zahl abzieht. 
 
 

Aufgabe 7 
 
a)   x = 2 852 (1),               x = 145 (2) 
 
 

Aufgabe 8 
 
Die Zahl wird mit 2 multipliziert. Beispiel:  (100)2 = 4,  (1000)2 = 8 


